LE_Z_ ASS\‘C‘/’]W'}' of P/\O\Oﬂbll ’l‘h‘ff

‘OMLDQ\C)J(M Lo adT ot J‘.ke(i[’\cmo/
Prlepent Y=o Imeans event Cannot L\c\ﬁwﬂ
P (evend )= ! is jua/zniuaf i hapen

Pﬁnloa\o}\ik\ dﬂl{i\sw‘\\‘o’\ . OUF}T,O'M ] Pmloa(oi H\I

Prbf-d“)ief u{' 7\ f/‘oloab;l,'lj d;&lf"‘ou'l\‘%:
1y €«ch ‘am]o.ls;\;\\] 'S betwesn 0 and (‘I"'\(—{US|U{)
2)  The Sun of all (lmlmlailiku s\



BT

Dra oo [iAY SRR NG o
V\O” O-‘(—- /N Ofx‘e
DU_F(OM \ ? /‘*Ol’)étlsnrll(%

| My
e

7
i
£
.
C

S

PPO@/Z(/N\ Botimice e LB

P/\CJ(M e dﬁj)\/\m

- Bushing S 13
—Tu\«,\olajy !Y
70’}3"} 40
Oubone | Prebabilil
Rusiness 2/ oba

Tk oo Lcﬁ %), =, 045

NU/SVS



£x: Toss & Gun 3 hs, Ragrd £ of headls .
- DeHrmve Fhe F oD

Oubere | DOIOPhan | 4 of Uacs | [rebabilih,
,,_,6-—»—““ S | Ye >0l
- HTT, THT, TTH = 022
2 KT HTH, THD = 0, 23§
3 Wl | Q. e
Totn|=§
O\A‘&"@M 1 P/\c\oc\b:“‘\]
© Oy
' O
[ O e
S Ol ln e

Ex: Kl ared de and a blig die.
o) Deitabe Hhe LF D
Gl B0 pamu outGaes
2 i b
é v OU'\'W P(\obp\ S \L]‘
(j,‘) ‘\]3(’
~ d -»(é'"{) '

c\b‘v&]




‘7) Pr( Y‘OHO/\ dof ) eAN a/\(& roll an blie
s jmk/ fn poll on d)7
sl €

Ee Jq2 2) (29, 28] ()T, (%6 )¢

()F(EJC ?’é +3’Z+ P —+—§JL /é‘}\\,\;‘J)

EX AV\ \X/\W %W'f\dlf{ 0|\-€, l"\O« L<_
foHOWj P.D,
Oulrome Praloab k‘H

0, |
0,%5
0.5
g 75

—

S0 AN

B
a) ?r(m‘ 0 ey HndD

/()(*( SR a5 ()r(m\l iL)
= ;O U5

\D) Pr (\m 3 e(kd)
?F(m\ 3oy Ol s 3



¢) fr(vells Jen Tha ¢ gad &)

= - S i pasrible

§3<= /qﬂ esé.g(/l@w}' MJ ﬂof/ibtc omL@mJ /),/501/\/ C
el o U
Bk Heee v ot Hcdﬁ 4’ €
R~ 4k ¢ D.
LQ\’ ()I‘(C): L
Pr(g)= 3o

Pc (A e Or(R) + or(c)= |
o4 + 24 pal=

t_,}i - O, Q)
*, = D, Y
O\,&' ~— Prahoa bt l‘*"
D<A oY
B oF Lh, = O




Ineliusion~ el \\m P/\\r\c«pu”
Pf (évF) = P(‘(E)—% PF(F) -~ VF(EAF) N

7

E}r ()r(E)_:— o.( brlF)= 0.5
0r(evF )= Qb e
a)  fr(enF)
Gleve) - bl Blry —laleais
oLy = b + Bl o Pr(enF)

O (enF)= OUY

)

g

N

|- gNy - 0¥

b) Pr (€'nF) o
= 0Oof



Ef_‘o A (Om()av\\/ V\CU & mpp)cem

b (Suppher | is lake)= 02
Pr vl sp W Y= 0.45
pf(hpﬂ SMP()\HYJ AT ld():0,0S/

fad O (reidhr ig lade ).

Pe ) o, t2 i Juied) = Prl1islak ) + e \ak )
— Pr (e¥ are 1»\41)
—pide RO T = OOk

-

0.2F

Pr(nifhe o lak )= }% Pr( )or 2 i late )
= o e

—




Odds

Y 0dds of (N\{,\N'\S are - {1 s e I anJ
You &t Iwite as h’(a% N ar & lere
(w\/\) WIIN Loﬁq

2 _ \IS

e A0 Bt o A
Heen Or (avmi) = G.(:%

g(', a) 0dds Vo# 5{“\/\3 N (N/ﬁo“‘)g’\ et %

= e promakisn) 7

= =
vl 9

b) P (pasiiag Jo% )= A=
‘ OA(&J of fCUJ V\ﬂ ?

Pect -0
9% ¢ @oif
(x\‘“’) a5 &

(=) 19 |



C) Vr‘(gr&o‘lw\%ﬁ)r >

26
0dds -F GradumaN; 7
J 0
De 2 | =
2. B
= 36
(x3¢) e

(=3) [



